	
Dusty Wilson 

Math 097
No work = no credit
	Name: ________________________________

In questions of science, the authority of a thousand is not
 worth the humble reasoning of a single individual. 
Galileo Galilei (1564 - 1642) 
Italian astronomer


	Warm-ups (1 pt each):
	
[image: image1.wmf]0

0

=_____
	
[image: image2.wmf]2

3

-

=_____
	
[image: image3.wmf]3

0

=_____


1 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(4 pts) Solve 
[image: image4.wmf]2

145

xx

-=-

 using any method

Solution: ________________________

2 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(4 pts) Solve 
[image: image5.wmf](

)

2

561000

w

+-=

 using any method

Solution: ________________________

3 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(2 pts) State the quadratic formula used for solving 
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 using any method (simplify your answer)
Solution: ________________________
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Solution: ________________________
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Solution: ________________________
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(2 pts) Carefully graph the system of inequalities and clearly shade the solution set.
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 by completing the square
Solution: ________________________
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 using the quadratic formula (simplification is optional)
Solution: ________________________
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(4 pts) Find 
[image: image17.wmf](

)

(

)

612153

ii

+--

.  Express you answer in the standard form 
[image: image18.wmf]abi

+


Solution: ________________________
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(2 pts) Simplify 
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 Express you answer in the standard form 
[image: image21.wmf]abi

+


Solution: ________________________
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(4 pts) Simplify 
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(4 pts) Find 
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Solution: ________________________
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